normalized X?

[ normalized x? probability |

chiz chiz_prob
Entries 694 =] Entries 694
Mean 1.283 [ Mean 0.4204
Std Dev 141 : |sdpey 0.2984

: chiz . : Shiz_pro

+_[Entes 1028 - [Entries 1028
Mean 1.069 | mean 0.4871
Std Dev 1.013 + [ std Dev 0.3005

chi2 : chiz_prob
- [Entries - [Entries 899
[ mean 0.4843
+ |stdDev 0.2998

i ,
%% 0.10.2 0.3 0.4 0.5 0.6 0.7 0.8 0.

X2

< x2/ndf >

! . B . . |
== DQM_V0001_R000000001__Global__CMSSW_ckfPUS0__RECO
s DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO

Re]

T

o

A A
k<] B
c c
= =
o o
< <
v v

Ratio

107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


